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502 : DATABASE ADMINISTRATION AND DA TAMINING
(2619 Pattern 1) {(Semester-V)
Time : 2% Hoursf . [MaxiMarks : 70

Instructions to the candidates :
1) Answer all the questions.

2)  Figures to the right indicates Jull marks.

gI) A) Sol ¢ any 5 out of 6 select the correct option. [5]
1) A collection of interrelated records is called
a)  Spreadsheet U 13)/ Dai&aaqc
c) MiS o) Textfile
i) A isoneor more dat Q%’f}asé ac;ﬁehs that are treated as a single

unit of work.

12) DatabaseAdmmist}aﬁon * b) Database Installation

¢) Transaction . . d) None of these
m) A is subsge et of the datd warehouse.
@ Meta Datfa A b) Data Warchouse
¢) Datal Mart ] d) Data o
v}y The data is stored Ietne\/ed and updated in
@ OLAP % —ismoll DLTEE oy
) SMIB =) FTPER

v)  Whatis KDD in data mining?

~ g wKnowledge Discovery Database
b)  Knowledge Discovery Data
¢) Knowledge Data Defi hition

.d)  Knowledge Data House

% ™ level is the-lowest ’scv Iof absﬁ‘?cﬁ‘oﬂ e

g a) Logical = e 'b) R [ —
c)  Concept @f Physical




i~ Yata aviailalilsier 11 Chg 1y a Andnl
L} ‘L)J'u: dvd?mi?iiéﬁ ii/i1 A:ll[{_}}l’]g (\]f a di
current and future

ia*nmnmn&
¢)  Data Security n) The correctness of the.data in
the database.

d) Data mdm ndence Iv)  Protective digital privacy
measures

C) State true or false. {5]
a) “Cuz‘npensated” is a state of transaction.
b) The full form of DDL is Data Definition Language.
) The ‘all-or-none™ property is commonly referred to as Isolation.
d) acubook uses “Big Data” to perform the concept of flashback.

¢)  Descriptive analytics tells vouwhat happeméd 1n the past.

Q2) Short Answers (Attempt any 3 out of 4} e [24]
a)  What is DBMS? State characrenstxc Gf DBMS.
b) Explain ACID properties in aietaﬂ
¢) Explain OLTP

d)  What s cloud cemputmg? Wr;{e advantages and disadvantages of cloud
computing. e Tt :

#

03) Long Answers (Atte@pfg anv2 out of4) - ;”—;'[432]
a)  What is data wakehousc? Explain-data warchouse Componwtg ey -
b)  Explain role and résponsibilities of DBA. h
¢) Describe KPD process with neat diagram.

d)  Explainthe3-tier architecture of DBMS.




